Math 130 - Quiz 6 Name __ Key
October 21, 2020 Score

Show all work to receive full credit. Supply explanations when necessary. You must work
individually on this quiz. This quiz is due October 26.

1. (2 points) Determine the exact values of sin(2z) and cos(2z) if z is the 4th quadrant

angle with tanx = —8.
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2. (2 points) Use a half-angle formula to determine the exact value of cos(77/8).
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3. (2 points) Suppose that z is the 3rd quadrant angle with sinz = —32. Use & half-angle Cox, ¥

formula to find the exact value of sin(z/2). _ .5
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4. (1 point) Use a power-reducing formula to rewr/i,t,t_e  sin?(6z).
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5. (1 point) Use a double-angle formula to rewrite 4sin(8z) cos(8z) in terms of a single
trig function.
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"6. (2 points) Use a product-to-sum formula to rewrite 10 cos(5z) sin(10z).
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